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a) Calculate i1, i, and vy.

b) Find the power dissipated for every component, including the voltage source.
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Sihee we  have agha For khe Ltwe Lnner
Lﬁ&FﬁJ +the suwtside V- Loop woulkd be redundant.

Mow we consider L-sums at nades.

At dhe dep center nose, we discover that
We  lack a  current  for the RV gowrce.
T+ we define & current fr the ieldage
weurde , we add ancther aA&nawan -'sl.ri'--s?|f
qnn-ﬁ,.-'i'gr‘ Effﬂ; fﬂn:tﬂuﬂﬂf{y, 'ﬁ-'i".'f..:-' :}'E"!':_'-
id #o  dlpser To .:s'.u.'.’uinj Sor the
currents  aad niﬁaﬁrﬂ, Thuz, we LA L,
writing & durrent-sum cﬂ'f*:' Ffor the

'.f'ﬂjp cester  Aade,

The =same nr?umuﬂ: cllnftif-,s e the bottem
tegter Avele, TAus, +His J.,.:.mér"em r—erfg{ﬁres
Ao CupreAT - sum eg’;rs ]

TAe  aext Stes s A w4 la +&  <yrrents
id series conpanent s, fHere, the zamie
Surreat MUt flew & AT, 3o, anel e

FESLStard:
iy = fo= i

Fram  This point Forwarel, we gzt Lo ia
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Last, we dase OhAms  faw.
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Pan = b * 2R = (AT 2.2 = 12w

Plo = L:'l.rt. = (2A) 1T = 4w

.z 2,
Pam = by 242 2(2A) 3 = 12w

. . -3
Pra = by 22 =(2A) 28 = 8W

T.-;I‘tﬂ,l_ E F..;.r: 26

For the 12V gourde, we peed +he
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